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Ssc Cqgl Tier | Previous Year Question Paper
Overview

Here, you can solve all the questions asked in Ssc Cgl Tier | Previous Year Question Paper on 2023-10-27 in the Morning
Shift exam. The detailed solutions are also provided for every previous year question and some of these questions can be
asked again in your Ssc Cgl Tier | exam. There are 50 questions in the exam and 60 minutes are provided for the Ssc Cgl
Tier | exam. The Cutoff of the exam was 140 marks hence you should try to score at least 150 marks.

Ssc Cqgl Tier | Previous Year Question Paper :
Questions and Solutions

Question 1:
Select the option that expresses the given sentence in passive voice. Take the wheels.

Difficulty : Moderate Average Time: 42 Seconds

Options :
1. Let the wheels take you.

2. Let you take the wheels.
3. Let the wheels be taken by you.

4. Let wheels you take.

Solution :
The correct answer is option 3i.e. Let the wheels be taken by you.

¢ In the active voice, "Take the wheels," the implied subject "you" is performing the action "take" on the object "the
wheels."

¢ In the passive voice, the sentence is rearranged to focus on "the wheels" as the subject of the sentence. The verb
"take" is changed to "be taken" to indicate that the action is being done to the wheels, and "by you" specifies the
agent performing the action.

e Using "Let" in the passive construction ("Let the wheels be taken by you") maintains the imperative mood (
command) of the original sentence while transforming it into the passive voice.

Question 2 :
Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to
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substitute it, select 'No substitution'. Greenhouse gases trapped beside Earth's atmosphere cause global warming.

Difficulty : Moderate Average Time: 82 Seconds

Options :
1. trapped inside

2. No substitution
3. trapped outside
4. trapped beyond
Solution :
The correct answer is option 1i.e. trapped inside.

"Trapped inside" accurately describes the confinement of greenhouse gases within the Earth's atmosphere. It effectively
communicates that the gases are contained within the atmospheric layer.

Hence, the chosen option is the correct answer.

Question 3:
Select the INCORRECTLY spelt word.

Difficulty : Moderate Average Time: 43 Seconds

Options :
1. Arrangement

2. Jeopardize
3. Corruption
4. Remmission
Solution :
The correct answer is option 4 i.e. Remmission.
The incorrect word in the list is "remmission." The correct spelling of the word is "remission."
"Remission" typically refers to the temporary or permanent reduction or disappearance of the symptoms of a disease.

Hence, the chosen option will be the correct answer.
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Question 4 :
Correct the spelling of the underlined word. While driving his car, he applied breaks in time to save himself and his family
from an accident.

Difficulty : Moderate Average Time: 51 Seconds

Options :
1. brave

2. brakes
3. bricks
4. braces
Solution :
The correct answer is option 2 i.e. brakes.
The correct word should be "brakes" instead of "breaks."

"Brakes" refer to the mechanical devices used to slow or stop a vehicle, while "breaks" is a verb meaning to separate into
parts or to interrupt continuity.

Hence, the correct sentence will be: "While driving his car, he applied brakes in time to save himself and his family
from an accident.”

Question 5:
Select the most appropriate synonym of the given word. Jargon

Difficulty : Moderate Average Time: 53 Seconds

Options :
1. Slang

2. Verboseness
3. Formality
4. Eloguence
Solution :
The correct answer is option 1i.e. Slang.

Jargon: Special words or expressions used by a particular profession or group that may be difficult for others to
understand.
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Slang:Informal words or phrases that are more common in spoken language than in formal writing and may be limited to a
particular group or culture.

The other option means:
Verboseness refers to using too many words.
Formality refers to adherence to established rules and conventions.

Eloquence refers to fluent and persuasive expression.

Question 6:

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the
error from the given options. If you don't find any error, mark 'No error' as your answer. If things were not going to be
normal / after the pandemic, mankind will / have to accept the New Normal.

Difficulty : Moderate Average Time: 71 Seconds

Options :
1. after the pandemic, mankind will

2. have to accept the New Normal
3. If things were not going to be normal
4. no error
Solution :
The correct answer is option 3 i.e. If things were not going to be normal.
e This part of the sentence indeed contains an error because the tense used is incorrect for a hypothetical situation.
e The correct phrasing should use the present tense for a hypothetical future condition.
e The corrected part should be: If things are not going to be normal.
Hence, the correct sentence will be: "If things are not going to be normal after the pandemic, mankind will have to
accept the New Normal."

Question 7 :
Select the option that expresses the given sentence in passive voice. Let me buy an expensive bag for my friend.

Difficulty : Moderate Average Time: 64 Seconds
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Options :
1. I request you to buy an expensive bag for my friend.

2. An excessive bag will be bought by me for my friend.
3. Let an expensive bag was bought by me for my friend.
4. Let an expensive bag be bought by me for my friend.
Solution :
The correct answer is option 4 i.e. Let an expensive bag be bought by me for my friend.

e "Let™ This indicates permission or authorization for something to happen.

e "an expensive bag": This is the object of the action in the active voice sentence, and it becomes the subject in the
passive voice.

e "be bought": This is the passive form of the verb "buy," indicating that the bag is being purchased.

e "by me": This specifies the doer of the action, indicating that "I" am the one buying the bag.

Question 8:
Select the most appropriate idiom/phrase that can substitute the underlined segment in the given sentence. Your career is
now completely obsolete.

Difficulty : Moderate Average Time: 74 Seconds

Options :
1. moving like a worm

2. as dead as a doornall
3. dead even
4. hanging by a thread
Solution :
The correct answer is option 2 i.e. as dead as a doornail.

Moving like a worm: This phrase typically describes someone or something that is wriggling or squirming in a way that
suggests weakness or ineffectiveness.

As dead as a doornail: It's often used to describe something that is no longer useful or relevant, making it an appropriate
choice for describing an obsolete career.

Dead even: This phrase is commonly used in sports or competitions to describe a situation where two opponents have the
same score or position, indicating a tie. It doesn't convey the idea of being obsolete.
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Hanging by a thread: This idiom suggests a precarious or vulnerable situation where something is barely holding on and
could collapse or fail at any moment.

Given the context of the sentence, which is about a career that is no longer relevant or useful, "as dead as a doornail" is
the most appropriate choice because it vividly conveys the idea of something being completely defunct or obsolete.

Question 9 :
Select the most appropriate meaning of the underlined word in the given sentence. Arthur has some strange ideas, but on
this occasion, | am inclined to agree with him.

Difficulty : Moderate Average Time: 86 Seconds

Options :
1. tended

2. conflicted
3. refused
4. conspired
Solution :
The correct answer is option 1i.e. tended.

This suggests a tendency to agree with Arthur on this particular occasion. So, the sentence means that Arthur has some
strange ideas, but on this occasion, the speaker tends to agree with him.

The word "inclined" can indeed be synonymous with "tended," as both imply a disposition or tendency toward a certain
viewpoint or action.

Hence, the most appropriate meaning of "inclined" in the context of the sentence is: Tended.

Question 10 :

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a
meaningful and coherent paragraph. A. Water gives itself away for our agriculture and other uses. B. Trees give flowers,
fruits and wood. C. Giving soothes an individual with the vibration of joy. D. Unconditional giving is a natural principle and
evident everywhere in nature which gives us solid, liquids and minerals.

Difficulty : Moderate Average Time: 71 Seconds

Options :
1. ACDB

2. CDAB
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CBDA
4. BDCA
Solution :
The correct answer is option 2 i.e. CDAB.
C: This sentence introduces the theme of giving and its impact on individuals.

D: This sentence expands on the concept of giving by highlighting its presence in nature, emphasizing that nature provides
various resources unconditionally.

A: This sentence provides an example of giving in nature, specifically mentioning water's essential role in supporting
agriculture and other human needs.

B: This sentence further illustrates the concept of giving in nature by highlighting the various resources provided by trees,
such as flowers, fruits, and wood.

By arranging the sentences in the order CDAB, the paragraph progresses logically from discussing the concept of giving
and its impact on individuals to providing examples of giving in nature, ultimately leading to specific examples of resources
provided by water and trees. This order helps to create a coherent and meaningful paragraph

Question 11 :
Select the most appropriate meaning of the underlined word in the following sentence. During the wedding ceremony, the
bride seemed even quieter and more diffident than usual.

Difficulty : Moder ate Average Time: 76 Seconds

Options :
1. Showing lack of interest

2. Bold in others' company
3. Giving a false or misleading impression
4. Shy due to lack of confidence.
Solution :
The correct answer is option 4 i.e. Shy due to lack of confidence.
The word "diffident" typically describes someone who is shy, lacking in self-confidence, or reserved.
The context suggests that the bride's behavior was more subdued and reserved than what is typical for her.

"Diffident" fits this context because it emphasizes a lack of self-assurance and a tendency to be hesitant or modest, which
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aligns with being quieter and more reserved.

Question 12 :

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select 'No substitution'. While he saw the bear, he ran to the nearest tree, dropped his gun and climbed to a
safe place.

Difficulty : Moderate Average Time: 65 Seconds

Options :
1. When he saw the bear

2. No substitution
3. No sooner did he see
4. Hardly he saw the bear
Solution :
The correct answer is option 1i.e. When he saw the bear.

e The sentence describes a sequence of events that occurred in reaction to seeing the bear.

e The action of running, dropping the gun, and climbing the tree happens as a direct response to seeing the bear.

e "When he saw the bear" sets up the cause (seeing the bear) and then describes the resulting actions (running,
dropping the gun, climbing).

NOTE:
When and while are both used to discuss time, but they serve different purposes and are used in different contexts:

e When: Used to indicate a specific point in time or a particular moment when something happens.
e While: Used to indicate that two actions or events occur simultaneously or to describe the duration of an action.

Question 13:
Select the most appropriate one-word substitution of the given group of words. Capable of or adapted for turning easily
from one to another of various tasks, fields of endeavour, etc. and is able to do many things.

Difficulty : Moderate Average Time: 81 Seconds

Options :
1. Versatile

2. Turncoat
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Talented
4. Flexible
Solution :
The correct answer is option 1 i.e. Versatile.

"Versatile" means capable of or adapted for turning easily from one to another of various tasks, fields of endeavor, etc.,
and being able to do many things.

Hence, the chosen option will be the correct answer.

Question 14 :
Select the most appropriate ANTONYM of the word given in the bracket to fill in the blank. There are
(definite) weaknesses in their security arrangements.

Difficulty : Moderate Average Time: 47 Seconds

Options :
1. monotonous

2. hazy
3. subtle
4. vague
Solution :
The correct answer is option 4 i.e. Vague.
Definite means clearly defined or determined.
Vague means not clearly expressed or outlined, lacking in detail or precision.
Hence, "vague" is the appropriate antonym of "definite" in this context.

Question 15
The following sentence has been split into four segments. ldentify the segment that contains a grammatical error. This will
be most difficult of / the adjustments we have to make / because we have been used to / spending a lot on guests.

Difficulty : Moderate Average Time: 51 Seconds

Options :
1. spending a lot on guests

Page No: 9
Kd_Live


https://study.kdcampus.live/question-paper/ssc-cgl-tier-i-previous-year-question-paper-2023-10-27-morning-shift-41480
https://study.kdcampus.live/

Kd_Live

the adjustments we have to make
3. This will be most difficult of
4. because we have been used to
Solution :
The correct answer is option 3 i.e. This will be most difficult of.
e The segment that contains a grammatical error is: "This will be most difficult of the adjustments we have to make"
e The corrected sentence should be: "This will be the most difficult of the adjustments we have to make"
e The error is the missing definite article "the" before "most difficult."
e The correct phrase is "the most difficult" to indicate the superlative degree.
Question 16 :

Select the most appropriate option that can substitute the underlined segment in the given sentence. The family has visit
many parts of Europe when the man was working with an international educational agency.

Difficulty : Moderate Average Time: 69 Seconds

Options :
1. had visited

2. are visited
3. have visit
4. has visiting
Solution :
The correct answer is option 1 i.e. had visited.

e The man was working with an international educational agency. This is an action that took place in the past. During
that time, the family visited many parts of Europe.

e Using the past perfect tense "had visited" helps to clarify that the family’s visits to many parts of Europe happened
before the man stopped working with the agency. It sets a clear sequence of past events.

Hence, the correct sentence will be: "The family had visited many parts of Europe when the man was working with
an international educational agency."

Question 17 :
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Select the correct idiom that can substitute the italicised group of words in the given sentence. My business partners
thought that | would simply accept their cheating, but they will soon realise that | am more powerful than what they
expected.

Difficulty : Moderate Average Time: 70 Seconds

Options :
1. damsel in distress

2. they caught a tartar
3. cutting a cloth
4. casting pearls before swine
Solution :
The correct answer is option 2 i.e. they caught a tartar.

The idiom "they caught a Tartar" is fitting because it conveys that the business partners underestimated the person and
are now facing someone who is much more formidable and difficult to deal with than they initially thought.

Thus, it correctly substitutes the phrase "1 am more powerful than what they expected.”

Question 18:
Select the most appropriate ANTONYM of the underlined word. This is such a rowdy classroom.

Difficulty : Moderate Average Time: 52 Seconds

Options :
1. Compliant

2. Chattering
3. Disorderly
4. Noisy
Solution :
The correct answer is option 1 i.e. Compliant.
"Rowdy" means noisy, disorderly, or unruly. And "compliant,” meaning obedient or willing to follow rules.
Hence, is the most suitable antonym in this context.

Hence, the chosen option will be the correct answer.
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Question 19 :
Select the most appropriate ANTONYM of the underlined word. She will probably come tonight for a party.

Difficulty : Moderate Average Time: 46 Seconds

Options :
1. definitely

2. perhaps
3. apparently
4. possibly
Solution :
The correct answer is option 1 i.e. definitely.
The most appropriate antonym of the underlined word "probably"” in the context of the sentence is definitely.
Probably means that something is likely to happen, but there is still some uncertainty.
Definitely means that something is certain to happen, with no doubt.

Question 20 :
Select the most appropriate synonym of the given word. Fierce

Difficulty : Moderate Average Time: 45 Seconds

Options :
1. Fanatic

2. Aggressive
3. Fraud
4. Gentle
Solution :
The correct answer is option 2 i.e. Aggressive.

The word "fierce" typically describes something intense, strong, or forceful, often suggesting a sense of aggression or
determination. Similarly, "aggressive" also conveys a strong, forceful, or assertive nature, often implying a readiness to
engage or confront others.

In many contexts, "fierce" and "aggressive" can be used interchangeably to describe someone or something with a
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strong, forceful, or intense nature.
Therefore, "aggressive" is the most appropriate synonym for “fierce."

Comprehension :

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. | went on (1) trying to 'find out how to'; but | wrote two or three novels without
feeling that | had made (2) progress. It was not until | wrote 'Ethan Frome' that | suddenly felt the artisan's full

3) of his implements. When 'Ethan Frome' first appeared, | was (4) criticised by the reviewers for what
was considered the clumsy structure of the tale. | had pondered long on this structure, had felt its peculiar difficulties, and
possible awkwardness, but could think of no (5) which would serve as well in the given case: and though | am far
from thinking 'Ethan Frome' is my best novel, and am bored and even exasperated when | am told that it is, | am still sure
that its structure is not its weak point.

Question 21 :
Select the most appropriate option to fill in blank no. 1.

Difficulty : Moderate Average Time: 98 Seconds

Options :
1. steadily

2. playfully
3. ambiguously
4. plausibly
Solution :
The correct answer is option 1i.e. steadily.

The context indicates a progression in the narrator's writing journey. The use of "l went on" suggests a continuation of
efforts, implying persistence over time.

The narrator feels they have made some progress or achievement but recognizes that they still have a long way to go.
They mention writing several novels without progress until eventually writing 'Ethan Frome', which suggests a period of
consistent, ongoing effort.

"Steadily" fits this context perfectly because it implies that the narrator continued their efforts in a consistent, determined
manner despite challenges and without immediate success.

Comprehension :
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. | went on (1) trying to 'find out how to'; but | wrote two or three novels without
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feeling that | had made (2) progress. It was not until | wrote 'Ethan Frome' that | suddenly felt the artisan's full

3) of his implements. When 'Ethan Frome' first appeared, | was (4) criticised by the reviewers for what
was considered the clumsy structure of the tale. | had pondered long on this structure, had felt its peculiar difficulties, and
possible awkwardness, but could think of no (5) which would serve as well in the given case: and though | am far
from thinking 'Ethan Frome' is my best novel, and am bored and even exasperated when | am told that it is, | am still sure
that its structure is not its weak point.

Question 22 :
Select the most appropriate option to fill in blank no. 2.

Difficulty : Moderate Average Time: 101 Seconds

Options :
1. no sooner

2. barely
3. much

4. So

Solution :
The correct answer is option 3 i.e. much.

"Much" makes sense in this context because it implies that the speaker feels a significant amount of progress or impact,
fitting the narrative flow better than the other options.

The other options are not suitable for the context of the text.

Comprehension :

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. | went on (1) trying to 'find out how to'; but | wrote two or three novels without
feeling that | had made (2) progress. It was not until | wrote 'Ethan Frome' that | suddenly felt the artisan's full

3) of his implements. When 'Ethan Frome' first appeared, | was (4) criticised by the reviewers for what
was considered the clumsy structure of the tale. | had pondered long on this structure, had felt its peculiar difficulties, and
possible awkwardness, but could think of no (5) which would serve as well in the given case: and though | am far
from thinking 'Ethan Frome' is my best novel, and am bored and even exasperated when | am told that it is, | am still sure
that its structure is not its weak point.

Question 23:
Select the most appropriate option to fill in blank no. 3.

Difficulty : Moderate Average Time: 86 Seconds
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Options :
1. dissent

2. stability
3. rigidity
4. control
Solution :
The correct answer is option 4 i.e. control.
The passage describes a feeling the author had about the artisan's work.

The correct choice should convey a sense of how the author perceived the artisan's way of handling his craft, especially in
relation to structure and technique.

Hence, the chosen option will be the correct answer.

Comprehension :

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. | went on (1) trying to ‘'find out how to'; but | wrote two or three novels without
feeling that | had made (2) progress. It was not until | wrote 'Ethan Frome' that | suddenly felt the artisan's full

3) of his implements. When 'Ethan Frome' first appeared, | was (4) criticised by the reviewers for what
was considered the clumsy structure of the tale. | had pondered long on this structure, had felt its peculiar difficulties, and
possible awkwardness, but could think of no (5) which would serve as well in the given case: and though | am far
from thinking 'Ethan Frome' is my best novel, and am bored and even exasperated when | am told that it is, | am still sure
that its structure is not its weak point.

Question 24 :
Select the most appropriate option to fill in blank no. 4.

Difficulty : Moderate Average Time: 87 Seconds

Options :
1. selectively

2. severely
3. intelligibly
4. legibly

Solution :
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The correct answer is option 2 i.e. severely.

The sentence before the blank states, "l was trying to find out how to." This suggests that the author was attempting to
figure out or understand how to proceed with writing novels.

If we insert "severely" into the blank, the sentence reads, "l was severely trying to find out how to." This implies that
the author was trying very intensely or harshly to understand how to proceed with writing novels.

While "severely" does convey a sense of intensity or seriousness, it seems slightly incongruent with the context of trying to
understand or figure out how to write novels.

Comprehension :

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. | went on (1) trying to 'find out how to'; but | wrote two or three novels without
feeling that | had made (2) progress. It was not until | wrote 'Ethan Frome' that | suddenly felt the artisan's full

3) of his implements. When 'Ethan Frome' first appeared, | was (4) criticised by the reviewers for what
was considered the clumsy structure of the tale. | had pondered long on this structure, had felt its peculiar difficulties, and
possible awkwardness, but could think of no (5) which would serve as well in the given case: and though | am far
from thinking 'Ethan Frome' is my best novel, and am bored and even exasperated when | am told that it is, | am still sure
that its structure is not its weak point.

Question 25 :
Select the most appropriate option to fill in blank no. 5.

Difficulty : Moderate Average Time: 104 Seconds

Options :
1. adjudication

2. adulteration
3. alternate
4. alternative
Solution :
The correct answer is option 4 i.e. alternative.
The passage describes the author's journey of writing and feeling like they had found their stride after struggling initially.
It specifically focuses on the author's experience with writing 'Ethan Frome', a novel that was criticized for its structure.

The author is reflecting on the structure and mentioning that despite recognizing its challenges, they could not find any
other structure (alternative) that would work better for the story.
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"Alternative" directly refers to another option, which is what the author is talking about.

Question 26 :
Select the figure from the options that can replace the question mark (?) and complete the given pattern.

Difficulty : Moderate Average Time: 59 Seconds

Options :
1. Immiscelianeous22u07@024-d4720240723115611

2. Immiscellaneous22-09@024-d4820240723115620
3. Immiscellaneous22-09@024-d4920240723115634
4. Immiscellaneous22409n2024-d5020240723115644

Solution :
The correct answer is option 4 i.e. Ir-miscellaneous22-07-2024-d5020240723115644

Step 1: Top left element shifts to top right, top right element shifts to middle of square, middle element shifts to bottom left,
bottom left element shifts to bottom right, and bottom right element changes into a new element and shifts to top left.

This step is followed in the given series pattern and every time a new element (number/alphabet/character) is used at the
place of bottom right that shits to top left. So, option 4 is correct.

Question 27 :
Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

Difficulty : Moderate Average Time: 80 Seconds

Options :
1. HINT

2. PRVB
3. SUXZ
4. MOSY
Solution :
The correct answer is option 3 i.e. SUXZ.

Logic: 1st letter + 2 = 2nd letter, 2nd letter + 4 = 3rd letter, 3rd letter + 6 = 4th letter
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All follow the same logic exceptoption 3.

Question 28 :
Select the correct mirror image of the given figure when the mirror is placed to the right side of the figure.

Difficulty : Moderate Average Time: 41 Seconds

Options :
1. Immiscelianeous22u07R@024-d4120240723115409

2. ImmiscellaneousP2409@024-d4220240723115418
3. ImmiscellaneousP2409@024-d4320240723115428

4. Immiscellaneous@2u0n2024-d4420240723115440

Solution :
The correct answer is option 1 i.e. Ir-miscellaneous22-07-2024-d4120240723115409

Irmfsceflaneous22-07«2024-d4520240723115504

Question 29 :
‘A # B' means 'A is the brother of B'. 'A @ B' means 'A is the daughter of B'. 'A & B' means 'A is the husband of B'. 'A % B'
means 'A is the wife of B". If D @N@H&Y @ F % V, then how is V related to H?

Difficulty : Moderate Average Time: 72 Seconds

Options :
1. Father's father

2. Son-in-law
3. Wife's father
4. Father

Solution :
The correct answer is option 3 i.e. Wife's father.

ssoeghpy28 ri8072024-d720240718133621
V is the Wife's father of H.

Question 30:
Which two signs and numbers need to be interchanged to make the following equation correct? 24 - (9 + 12) - (84 x 4) +
28 =32
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Difficulty : Moderate
Average Time: 45 Seconds

Options :
1. 24 and 28, - and +

2. 24 and 28, * and +
3. 9and 4, - and x
4. 12 and 4, - and x
Solution :
The correct answer is option 4 i.e. 12 and 4, + and Xx.
24 - (9 +12) - (84 x 4) + 28 = 32
After interchanging the signs and numbers,
24-(9+4)-(84+12)+28=32
24 - (13) - (7) +28 =32
52-20=32

Question 31 :
A % B means 'A is the daughter of B' A $ B means 'A is the son of B' A * B means 'A is the sister of B' [f H% I$ J $ K * L,
then how is H related to J?

Difficulty : Moderate Average Time: 50 Seconds

Options :
1. Son

2. Son's daughter
3. Son's son
4. Daughter

Solution :
The correct answer is option 2 i.e. Son's daughter.

ssoeghpy28 irid072024-d620240718133557
His Son's daughter of J.

Question 32 :
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Select the set in which the numbers are related in the same way as are the numbers of the following set. (NOTE:
Operations should be performed on the whole numbers, without breaking down the numbers into its constituent digits. E.g.
13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is NOT allowed) (5, 7, 140) (6, 4, 96)

Difficulty : Moderate Average Time: 58 Seconds

Options :
1. (7, 3,63)

2. (5, 14, 210)
3. (9, 2, 72)
4. (6,7, 126)

Solution :
The correct answer is option 3i.e. (9, 2, 72).

Logic: (5,7, 140),

5\(\times\) 7 = 35

35 \(\times\) 4 = 140

(6, 4, 96),

6 \(\times\) 4 = 24

24 \(\times\) 4 = 96

Similarly, (9, 2, 72).

9 \(\times\) 2 =18

18 \(\times\) 4 = 72.

Only, option 3 follows the same logic.

Question 33:

Select the set in which the numbers are related in the same way as are the numbers of the given set. (NOTE: Operations
should be performed on the whole numbers, without breaking down the numbers into its constituent digits. E.g. 13 -
Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and
then performing mathematical operations on 1 and 3 is not allowed.) (15, 45, 90) (8, 24, 48)
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Difficulty : Moderate
Average Time: 67 Seconds

Options :
1. (9, 27, 45)

2. (7,21, 24)
3. (6, 18, 36)
4. (12, 36, 68)

Solution :
The correct answer is option 3i.e. (6, 18, 36).

Logic: (15, 45, 90),

15 \(\times\) 3 =45

45 \(times\) 2 = 90

(8, 24, 48),

8 \(\times\) 3 =24

24 \(\times\) 2 = 48

Similarly, (6, 18, 36)

6 \(\times\) 3 =18

18 \(\times\) 2 = 36.

Only, option 3 follows the same logic.

Question 34 :
Which of the following numbers will replace the question mark (?) in the given series? 2, 6, ?, 54, 162, 486

Difficulty : Moderate Average Time: 52 Seconds

Options :
1. 16

2. 20

3. 18
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24
Solution :
The correct answer is option 3i.e. 18.
2, 6,7, 54,162, 486
ssoeghpy28 iri8072024-d520240718133531

Question 35 :
Which of the following letter-clusters will replace the question mark (?) in the given series to make it logically complete?
WUS, QOM, KIG, ?

Difficulty : Moderate Average Time: 39 Seconds

Options :
1. ACE

2. CAE
3. ECA
4. EAC
Solution :
The correct answer is option 3 i.e. ECA.

WUS, QOM, KIG, ?
ssweghpy28 rid01mi2024-d420240718133511

Question 36 :
Select the figure that will come next in the following figure series.

Difficulty : Moderate Average Time: 39 Seconds

Options :
1. Immiscelianeous22u0@024-d3620240723115241

2 Immisceélianeous2240nR024-d3720240723115251
3. Immiscellaneous2409@2024-d3820240723115303

4. ImmiscellaneousP24092024-d3920240723115314

Solution :
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The correct answer is option 2 i.e. Ir-miscellaneous22-07-2024-d3720240723115251

The complete figure is rotating 90 degrees in the anti-clockwise direction in each step. So, option 2 is correct.

Question 37 :
Select the option figure which is embedded in the given figure (rotation is NOT allowed).

Difficulty : Moderate Average Time: 61 Seconds

Options :
1. Immiscelianeous22u07@024-d3020240723115107

2. Immiscellaneous22-09@024-d3120240723115124
3. Immiscellaneous22-09@024-d3220240723115134
4. Immiscellaneous22u0n024-d3320240723115144
Solution :
The correct answer is option 3j.e. Ir-miscellaneous22-07-2024-d3220240723115134

Irmiscellaneous22-07«2024-d3420240723115203

Question 38:
Select the option that is related to the fifth number in the same way as the second number is related to the first number
and the fourth number is related to the third number. 6:22:17 66:: 4:?

Difficulty : Moderate Average Time: 67 Seconds

Options :
1. 10

2. 14
3. 12
4. 18
Solution :
The correct answer is option 2 i.e. 14.
Logic: The first number is multiplied by 4 and then subtracted by 2 to get the second number.
6:22,

6 \(\times\) 4 - 2 =22
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17: 66,

17 \(\times\) 4 - 2 = 66
Similarly, 4: 14
4\(times\)4-2=16-2=14

Question 39 :
Select the option that represents the letters that, when placed from left to right in the following blanks, will complete the
letter-series. ASDF A FG_UD GA_FG

Difficulty : Moderate Average Time: 50 Seconds

Options :
1. GTDAFVD

2. FTEAFWD
3. FTDAFVD
4. GTEAGXE
Solution :
The correct answer is option 1i.e. GTDAFVD.
ASDF_A__FG_UD_GA__FG
ASDFG /ATDFG /AUDFG /AVDFG

Question 40 :

In a certain code language, 'ABOVE!' is written as '9' and 'SHINE' is written as '11'. How will 'PARTY" be written in that
language?

Difficulty : Moder ate Average Time: 43 Seconds

Options :
1. 12

2. 16
3. 15

4. 13

Solution :
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The correct answer is option 2 i.e. 16.

Logic: Add the positional value of all alphabets and divide by a number of alphabets.

'ABOVE' is written as '9'

A B O \% E
1 2 15 22 5
(1+2+15+22+5)+5 =45+5=9
'SHINE' is written as '11'
S H [ N E
19 8 9 14 5
(19+8+9+14+5)+5 =55+5=11
Similarly, 'PARTY is written as '16'
P A R T Y
16 1 18 20 25

(16 +1+ 18+ 20+ 25)+5=16.

Question 41 :

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if
it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the
statements. Statements: Some laptops are phones. Some phones are capsules. Some capsules are pens. Conclusions: |.
Some laptops are capsules. Il. Some phones are pens. lll. Some pens are capsules. IV. Some pens are phones.

Difficulty : Moderate

Options :
1. Only conclusions Il and IV follow

2. Only conclusions Il and Il follow
3. Only conclusion | follows

4. Only conclusion Il follows

Solution :

Kd_Live
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The correct answer is option 4 i.e. Only conclusion Il follows.
ssoeghpy28 rid072024-d320240718133442

Conclusions:

I. Some laptops are capsules - Does not follow.
Il. Some phones are pens - Does not follow.

Ill. Some pens are capsules - Follows.

IV. Some pens are phones - Does not follow.

Question 42 :
The second number in the given number pairs is obtained by performing certain mathematical operation(s) on the first
number. The same operation(s) are followed in all the number pairs, EXCEPT one. Find that odd number pair.

Difficulty : Moderate Average Time: 64 Seconds

Options :
1. (64, 48)

2. (72, 27)
3. (96, 72)
4. (108, 81)
Solution :
The correct answer is option 2 i.e. (72, 27).
Question 43:
In a certain code language, 'RAT' is coded as '27' and 'ZEBRA' is coded as '125'. How will 'RABBIT' be coded in that
language?
Difficulty : Moderate Average Time: 33 Seconds

Options :
1. 236

2. 224
3. 212

4. 216
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Solution :
The correct answer is option 4 i.e. 216.

Logic: Cube of the number of alphabets.
'RAT'" is coded as '27"'

RAT =3=(3)%=27

'ZEBRA!' is coded as '125'

ZEBRA =5 = (5)° =125

Similarly, 'RABBIT' is coded as '216'
RABBIT = 6 = (6)° = 216.

Question 44 :

Three statements are given followed by three conclusions numbered I, 1l and Ill. Assuming the statements to be true, even
if they seem to be at variance with commonly known facts, decide which of the conclusions logically follow from the
statements. Statements: All blocks are toys. All toys are books. All books are stories. Conclusions: I. Some toys are
blocks. Il. Some blocks are books. Ill. Some stories are toys.

Difficulty : Moder ate Average Time: 59 Seconds

Options :
1. Only conclusions | and IlI follow

2. Only conclusions Il and Il follow
3. Only conclusions | and Il follow
4. All the conclusions follow

Solution :
The correct answer is option 4 i.e. All the conclusions follow.

ssweghpy2@ rid0mm2024-d220240718133424

Conclusions:

I. Some toys are blocks - Follows.
Il. Some blocks are books - Follows
Ill. Some stories are toys - Follows.

Question 45 ;
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If today is Friday, which day will it be after 72 days?

Difficulty : Moderate Average Time: 53 Seconds

Options :
1. Thursday

2. Sunday
3. Friday
4. Tuesday
Solution :
The correct answer is option 2 i.e. Sunday.
Given = Friday
As we know on the 7th day, the day will repeat itself.
After 72 days = (7 \(\times\)10) + 2 = 10 weeks + 2 days
Here, we have 2 days left
After 1 day - Saturday
After 2 days - Sunday

Here, after 72 days it will be Sunday.

Question 46 :
Select the option that is related to the fourth term in the same way as the first term is related to the second term and the
fifth term is related to the sixth term. 4:33 ? 109 :: 8:257

Difficulty : Moderate Average Time: 54 Seconds

Options :
1.5

2.9

3.6
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Solution :
The correct answer is option 3 i.e. 6.

Logic: Second ={(First no.)3 +2}+2
4:33
={@+2}+2

= {64 +2} + 2

= 66+2 =33
8:257
={®)+2}+2

= {512 +2} + 2
=514+ 2

=257

Similarly, 6:109
={(6)+2}+ 2
={216 +2} + 2
=218+ 2

=109

Question 47 :
Which of the answer figures is the exact mirror image of the given problem figure when the mirror is held at the right side?

Difficulty : Moderate Average Time: 54 Seconds

Options :
1. Immiscelianeous2u07R@024-d2420240723114909

2 ImmiscellaneousP2409@024-d2520240723114926
3. ImmiscellaneousP2409@024-d2620240723114937

4. Immfscellaneous2240nR024-d2720240723114948
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Solution :
The correct answer is option 3i.e. Ir-miscellaneous22-07-2024-d2620240723114937

Irmiscellaneous22-07«2024-d2820240723115012

Question 48 :

Select the set in which the numbers are NOT related in the same way as are the numbers of the following sets. (4, 11,
137), (3, 12, 153) (NOTE: Operations should be performed on the whole numbers, without breaking down the numbers
into its constituent digits.)

Difficulty : Moderate Average Time: 69 Seconds

Options :
1. (7,8, 113)

2. (13, 14, 365)

3. (9, 11, 202)

4. (4,3, 61)
Solution :
The correct answer is option 3i.e. (9, 11, 202).
Logic: (4, 11, 137)
(4)? + (11)% = 16 + 121 = 137
(3, 12, 153)
(3)% + (12)° = 9 + 144 = 153
Similarly, (9, 11, 202)
(9)? + (11)* = 81 + 121 = 202 .

Question 49 :
Select the correct mirror image of the given figure when the mirror is placed at AB.

Difficulty : Moderate Average Time: 43 Seconds

Options :
1. Immiscelianeous2u07«R024-d1820240723114539

2. ImmiscellaneousP24092024-d1920240723114551
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ImmfscellaneousP2-072024-d2020240723114602
4. ImrmiscellaneousP2u0n024-d2120240723114613
Solution :
The correct answer is option 1i.e. Ir-miscellaneous22-07-2024-d1820240723114539

Irmiscellaneous22-07«2024-d2220240723114644

Question 50 :

Three Statements are given followed by Three conclusions numbered I, Il and Ill. Assuming the statements to be true,
even if they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from
the statements. Statements: All plates are bowls. No bowl is a glass. Some glasses are vessels. Conclusions: |. Some
glasses are plates. II. Some bowls are plates. Ill. Some vessels are bowils.

Difficulty : Moderate Average Time: 77 Seconds

Options :
1. Both conclusions Il and Il follow.

2. Both conclusions | and Il follow.
3. Only conclusion Il follows.
4. Only conclusion I follows.

Solution :
The correct answer is option 3 i.e. Only conclusion Il follows.

ssweghtpy 28 ri8072024-d120240718133402

Conclusions:
I. Some glasses are plates - Does not follow.
Il. Some bowls are plates - Follows.

I1l. Some vessels are bowls - Does not follow.

Ssc Cgl Tier | Previous Year Question Paper
Analysis

The analysis of Ssc Cgl Tier | Previous Year Question Paper held on 2023-10-27 in the Morning Shift exam is as follows:
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50 questions were moderate.
2. The safe score is 140 marks.
3. , 25 questions were asked from English Language and 25 questions were asked from Logical Reasoning
4. 0 questions should have been skipped if you were short of time.

Ssc Cgl Tier | Previous Year Question Paper Topic
Wise Weightage

English Language

Cloze Test-5

Error Spotting - 2
Sentence & Para Jumbles - 1
Idioms - 2

One Word Substitution - 1
Voice - 2

Sentence Improvement - 3
Synonym - 4

Antonym - 3

Correctly Spelt - 1

. Incorrectly Spelt - 1

. Incorrectly Spelt - 1

© o NG h DR

B e
N PO

Logical Reasoning

Coding Decoding - 2

Analogy - 5

Classification - 1

Blood Relation - 2

Syllogism - 3

Clock And Calendar - 1

Series - 3

Mathematical Reasoning - 1

Seating Arrangement And Puzzle - 7
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Ssc Cgl Tier | Previous Year Question Paper Tips
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and Tricks

BeoQgl Tier bRreviokusWNear Question Paper Tips and Tricks
1. Try to solve Ssc Cgl Tier | Previous Year Question Paper without taking any help from the solutions.

2. Ssc Cqgl Tier | Previous Year Question Paper require proper usage of concept so firstly read the question thoroughly
and then use the right concept.

3. In case you're not able to solve the question in less than 30 seconds in the exam then you should skip the question
and move to the next question.

Daily Current Affairs

Daily CuUrrertAffargiknown
KD Live is providing Current Affairs on a daily basis for SSC and a Current Affairs Quiz too for the practice.

KD Live Free Offerings

KBuktive FretoOfferingswn
KD Live is Offering Every Information and Study Material required for the self study. Please click on the following links for
accessing those.

Study Plan

General Science
General Awareness
General Knowledge
Quantitative Aptitude
Logical Reasoning
English Language
Today In History
Syllabus

Know Your State
Know Your Country
Know Your City
Know Your Leader
Books And Authors
Daily Vocabulary
Daily Editorial
Latest Notifications
Exam Dates

Admit Card

Exam Results
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Further Guidance on Ssc Cgl Tier | Previous Year Question Paper

For Asking any query on Ssc Cgl Tier | Previous Year Question Paper please mail Send Email or you can fill the form at
KD Live.

About KD Live

KD live has an expertise in providing apt explanations for the Ssc Cgl Tier | Previous Year Question Paper since 2008.
More than 10 lakh aspirants have cleared competitive exams under the guidance of Neetu Mam. Study.kdcampus.live is
providing free information on various topics and for the Ssc Cgl Exam you can refer the following link Click Here however if
you want to practice more questions then please refer the following link Click Here.

About Neetu Mam

Neetu Mam is primarily passionate for the English language and teaching from the last 20 years however for the Ssc Cgl
Tier | Previous Year Question Paper. She has guided her team to provide the best explanation for the question.
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